$$\begin{split} \left| h dde(u_{ij}) = 1 \cdot g \right| & \sum_{i \neq j} \left(\frac{u_{ij}}{u_{ij}} \right)_{i \neq i}^{i} \left(\frac{u_{ij}}{u_{i}} \right)_{i \neq i}^{i} \left(\frac{$$

The Estimates for
$$u \in C(\overline{n}) \cap C^{q}(n)$$
 usu Can sharp be done
by affine transformation
 M Assume $B_{\perp} \subset R \subset B_{1}$ there $\exists c_{1} c_{2} \neq o$ Ciech
 $U = 1 \quad in R$ $(1) \quad c_{1} \leq c_{2} \neq o$ Ciech
 $U = 1 \quad c_{1} \leq c_{2} \leq c_{1} \quad c_{2} \leq c_{2} \leq c_{1} \leq c_{2} \leq c_{1} \leq c_{2} < c_{2} <$

We shall first show how to use Then to JCP situation.
Then we prove Then.
By translation, votation, we assume
$$U(0)=0$$
, $\nabla U(0)=0$
 $\overline{\nabla}^2 U(0)=I$, $U \ge 0$
Now we conside $\Omega = \{x \mid U(1x) \le a^2\}$
which is a convex body in IRⁿ. By John's theorem.
 $\exists E$ centered at $x_0 \in \Omega$, $\forall 0$ is the center of gravity of Q ,
 $E = \{x \mid \frac{(x^i - x_0^i)^2}{b_i^2} \le 1\}$ $E_1 \subset \Omega \subset E$

This is due to that

det $\overline{V}_{u}^{2} = 1$ does not change under an affine transformation $T: X \rightarrow Ax + C$ with det $A = \pm 1$

Namely if
$$\widetilde{U}(x) = U(Ax+c)$$

 $\frac{\partial \widetilde{U}}{\partial x^{i}} = \frac{\partial U}{\partial y^{k}} a^{k}_{i}$
 $\frac{\partial \widetilde{U}}{\partial x^{i} \partial x^{j}} = \frac{\partial^{2} U}{\partial y^{k} \partial y^{k}} a^{j}_{i} a^{j}_{i}$
 $= (a^{k}_{i}) (\frac{\partial^{2} U}{\partial y^{k} \partial y^{k}}) a^{j}_{i} = (A)^{tr} (\nabla U) A$
 $\Rightarrow d_{i} (\nabla \widetilde{U}) = d_{i} (A^{tr}) d_{i} + (A) d_{i} (\nabla U)$
This has been used when we assume $\nabla^{2} U(o) = id$.
Clearly using orthogonal transformation E can be put into

the firm we claimed, But it does not change
$$\overline{Vu}_{0} = I$$

Now let $y^{i} = \frac{x^{i} - x^{i}}{b_{i}}$ $(\Rightarrow) x^{i} = b_{i} \delta^{i} + x^{i}}_{0}$
 $E \longrightarrow B_{i} - but$
 $V \longrightarrow D$
 $V = B^{tr} (\lambda \cdot \overline{Vu}) B \Rightarrow det(\overline{Vv}) = (\prod_{i=1}^{n} b_{i}^{-1})\lambda^{n}$
 $\Rightarrow \lambda^{n} = \frac{1}{(\Pi b_{i})^{n}}$
 $V = B^{tr} (\lambda \cdot \overline{Vu}) B \Rightarrow det(\overline{Vv}) = (\prod_{i=1}^{n} b_{i}^{-1})\lambda^{n}$
 $\Rightarrow \lambda^{n} = \frac{1}{(\Pi b_{i})^{n}}$
 $V = B^{tr} (\lambda \cdot \overline{Vu}) B \Rightarrow det(\overline{Vv}) = (\prod_{i=1}^{n} b_{i}^{-1})\lambda^{n}$
 $\Rightarrow \lambda^{n} = \frac{1}{(\Pi b_{i})^{n}}$
 $V = B^{tr} (\lambda \cdot \overline{Vu}) B \Rightarrow det(\overline{Vv}) = (\prod_{i=1}^{n} b_{i}^{-1})\lambda^{n}$
 $\Rightarrow \lambda^{n} = \frac{1}{(\Pi b_{i})^{n}}$
 $V = B^{tr} (\lambda \cdot \overline{Vu}) B \Rightarrow (A \cdot \overline{Vv}) = (\sum_{i=1}^{n} b_{i}^{-1})\lambda^{n}$
 $f = \sum_{i=1}^{n} b_{i}^{n}$
 $(\Rightarrow c_{i} < \lambda \leq \lambda \leq c_{i}^{n})$
 $(\Rightarrow c_{i} < \lambda \leq \lambda \leq c_{i}^{n})$
 $(\Rightarrow c_{i} < b_{i}^{n} \leq c_{i} A^{n})$
 $(f < \nabla v \leq c_{i} I)$
 $(f < \nabla v \leq c_{i} I)$
 $(f < b_{i}^{n} \leq c_{i}A^{n})$
 $(f < b_{i}^{n} < b_$

 $\begin{array}{c} \text{In particular} \\ \text{at } x = \circ \begin{array}{c} \text{fru} \\ \text{or } \end{array} \end{array} (\Rightarrow) \quad (1 \leq \lambda) \left(\begin{array}{c} x \\ z \\ z \end{array} \right) \\ (\clubsuit) \end{array}$

$$\begin{array}{c} \Rightarrow \quad C_{1}^{\prime} I \leq \overline{\nabla}^{2} u \leq C_{2}^{\prime} I \qquad \text{in} \left\{ x \mid u \leq a^{-1} \right\} \\ S_{a_{x}}^{u} \quad also \quad \text{contains a Smeller ball} \\ \left(uith \quad rudius \quad \overline{t}, a \right) \\ This \quad put \quad us \quad into \quad the \quad situation \quad f \quad applying \quad Calabi \ 's \\ theorem. \\ Precisally, \quad (A) \quad shows \quad that \quad E \quad contains \\ B_{Ea} \quad \sum \frac{\left| x^{i} \cdot x^{i} \right|^{2}}{b_{i}^{t}} \leq \left[\frac{\left| x^{i} \cdot x^{i} \right|^{2}}{c, a^{2}} \leq 1 \\ Also \quad sinke \quad B_{t} \left(\overline{x} \right) \subset S_{h_{x}}^{u} \\ (\Rightarrow \int u \mid |u_{1} \cdot \overline{u}| \leq t_{0} \right] \quad C \quad S_{h_{x}}^{u} \\ S_{h_{x}} \quad (f \quad Some \eta > 0 \\ in \quad dependent \\ x = By + x, \quad \Rightarrow \quad B(v) \subset S_{h_{x}}^{u} \\ (\Rightarrow \int u \mid z = B_{x}^{u} + \overline{x}_{v} \\ (\Rightarrow \int u \mid z = B_$$

Nomely, The provide the normalized situation to obtain the needed estimates for JCP.

Now we focus on the proof of Thm.

$$\begin{array}{c} \label{eq:constraint} \hline \begin{array}{c} (u \text{ is the me in The, which JCP}), \\ We use \emptyset , the comparison principle 2, the Alexandrov meximum principle. \\ Possible estimate $\underbrace{CP2}_{p_2}$ the Alexandrov meximum principle. \\ \hline \begin{array}{c} Fw(i). & Apply CP 2 to & \pm (|x|^{-1}|) + h & \& u \\ \hline \end{array} \\ & \Rightarrow & 0h & Dl & U_1 \leq u \Rightarrow & \bigvee_{DT}^{ni} (u-u_1) \geq 0 \\ \hline \end{array} \\ & \Rightarrow & U(u_1 \geq 0 & \text{in } \Omega \\ \hline \end{array} \\ & \Rightarrow & U(u_1 \geq 0 & \text{in } \Omega \\ \hline \end{array} \\ & \Rightarrow & U(u_1 \geq 0 & \text{in } \Omega \\ \hline \end{array} \\ & \Rightarrow & U(u_1 \geq 0 & \text{in } \Omega \\ \hline \end{array} \\ & \Rightarrow & U(u_1 \geq 0 & \text{in } \Omega \\ \hline \end{array} \\ & \Rightarrow & U(u_1 \geq 0 & \text{in } \Omega \\ \hline \end{array} \\ & \Rightarrow & U(u_1 \geq 0 & \text{in } \Omega \\ \hline \end{array} \\ & \Rightarrow & U(u_1 \geq 0 & \text{in } \Omega \\ \hline \end{array} \\ & \begin{array}{c} H_{u_1}(u_1) \geq 0 \\ H_{u_1}(u_1) \geq 0 \\ \hline \end{array} \\ & \Rightarrow & U(u_1 \geq 0 & \text{in } \Omega \\ \hline \end{array} \\ & \Rightarrow & U(u_1 \geq 0 & \text{in } \Omega \\ \hline \end{array} \\ & \begin{array}{c} H_{u_1}(u_1) \geq 0 \\ H_{u_1}(u_1) \geq 0 \\ \hline \end{array} \\ & \begin{array}{c} H_{u_1}(u_1) \geq 0 \\ H_{u_1}(u_1) \geq 0 \\ \hline \end{array} \\ & \begin{array}{c} H_{u_1}(u_1) \geq 0 \\ H_{u_1}(u_1) \geq 0 \\ \hline \end{array} \\ & \begin{array}{c} H_{u_1}(u_1) \geq 0 \\ H_{u_1}(u_1) \geq 0 \\ \hline \end{array} \\ & \begin{array}{c} H_{u_1}(u_1) \geq 0 \\ H_{u_1}(u_1) \geq 0 \\ \hline \end{array} \\ & \begin{array}{c} H_{u_1}(u_1) \geq 0 \\ H_{u_1}(u_1) \geq 0 \\ \hline \end{array} \\ & \begin{array}{c} H_{u_1}(u_1) \geq 0 \\ H_{u_1}(u_1) \geq 0 \\ \hline \end{array} \\ & \begin{array}{c} H_{u_1}(u_1) \geq 0 \\ H_{u_1}(u_1) \geq 0 \\ \hline \end{array} \\ & \begin{array}{c} H_{u_1}(u_1) \geq 0 \\ H_{u_1}(u_1) \geq 0 \\ \hline \end{array} \\ & \begin{array}{c} H_{u_1}(u_1) \geq 0 \\ H_{u_1}(u_1) \geq 0 \\ \hline \end{array} \\ & \begin{array}{c} H_{u_1}(u_1) \geq 0 \\ H_{u_1}(u_1) \geq 0 \\ \hline \end{array} \\ & \begin{array}{c} H_{u_1}(u_1) \geq 0 \\ H_{u_1}(u_1) \geq 0 \\ \hline \end{array} \\ & \begin{array}{c} H_{u_1}(u_1) \geq 0 \\ H_{u_1}(u_1) \geq 0 \\ \hline \end{array} \\ & \begin{array}{c} H_{u_1}(u_1) \geq 0 \\ H_{u_1}(u_1) \geq 0 \\ \hline \end{array} \\ & \begin{array}{c} H_{u_1}(u_1) \geq 0 \\ H_{u_1}(u_1) \geq 0 \\ \hline \end{array} \\ & \begin{array}{c} H_{u_1}(u_1) \geq 0 \\ H_{u_1}(u_1) \geq 0 \\ \hline \end{array} \\ & \begin{array}{c} H_{u_1}(u_1) \geq 0 \\ H_{u_1}(u_1) \geq 0 \\ \hline \end{array} \\ & \begin{array}{c} H_{u_1}(u_1) \geq 0 \\ H_{u_1}(u_1) \geq 0 \\ H_{u_1}(u_1) \geq 0 \\ \hline \end{array} \\ & \begin{array}{c} H_{u_1}(u_1) \geq 0 \\ \hline \end{array} \\ \\ & \begin{array}{c} H_{u_1}(u_1) \geq 0 \\ \hline \end{array} \\ \\ & \begin{array}{c} H_{u_1}(u_1) = H_{u_1}(u_1) = H_{u_1}(u_1) \\ \\ & \begin{array}{c} H_{u_1}(u_1) = H_{u_1}(u_1) \\ H_{u_1}(u_1) = H_{u_1}(u_1) \\ \\ \\ & \begin{array}{c} H_{u_1}(u_1$$

The key is still A. Inextmum principle:

$$\begin{array}{c} (u-h) = \circ \\ (h-u)(x) \leq C \underbrace{D}^{min} d(x, 3n) (\underbrace{Du(\Omega)}) \\ (h-u)(x) \leq C \underbrace{d(x, 3n)} (\underbrace{Dv(\Omega)}) \\ (Dv(n)) \leq C \underbrace{d(x, 3n)} (Dv(n)) \\ (Dv(n)) \leq C \underbrace{d(x, 3n)} \\ (Dv(n)) \le C \underbrace{d(x, 3n)$$

To get (ii), the Hessian estimate, We apply (2) to
$$k \in S_{\pm h}$$
 & u h
Then, $|\nabla u|_{(k)} \leq \frac{h}{dit(x, s)} \leq \frac{1}{dit(S_{\pm h}, s)} \leq C$ g
Now Posseretar Estimate
Sup $\left[(\frac{3}{4}h - u) \cup u_{av} \right] \leq C$
 \Rightarrow In particular in $\frac{B_{curs}}{2h - \frac{1}{2h}} \leq C$
 $\sum \frac{Sup}{(U_{av})} \leq \frac{C}{\frac{3}{4}h - \frac{1}{2h}} \leq C$
Since $\frac{\pi}{11} \cup u_{av} = 1 \Rightarrow$ the minimum one $u_{pp} \geq C'$
 $\left[\bigcup_{pp} = \frac{1}{\frac{1}{11} \cup u_{s}} \geqslant \left(\frac{1}{C}\right)^{n/2} \right]$
This proves the uniform estimate in (b).
The Hölder estimate new fillows from Evans' estimate
 G_{-T} $i_{1} \cdot i_{+}$
Next, we show how to prove Evans' estimate. The kerg is
a Harwack estimate of Krylow-Safenor. [Only need the
Weeker fore.]

Added Affine transformation to diagonalize (Uij) W.L.G. $\mathcal{I}_{o} = 0$ $\left(\overline{V_{ij}}^{T} \right) = \begin{pmatrix} Q_{i1} & Q_{12} & \cdots & Q_{in} \\ G_{21} & G_{22} & \cdots & G_{2n} \\ \vdots & & & \\ \nabla G^{=0} & G_{in1} & G_{02}, \cdots & G_{nn} \end{pmatrix}$ $\beta = \begin{pmatrix} 1 & -\frac{a_{1n}}{a_{1n}} & -\frac{a_{1n}}{a_{n}} \\ 0 & 1 & 0 \\ \vdots & \vdots & \ddots & i \end{pmatrix}$ $\Rightarrow \beta^{t} \beta^{t}_{ij} \mu \beta = \begin{pmatrix} a_{ij} & a_{ij} & a_{ij} \\ a_{ij} & a_{ij} \end{pmatrix}$ $\exists \begin{pmatrix} 1 & 0 \\ 0 & 0_1 \end{pmatrix} \doteq 0 \text{ Such that } D_1^{tr} A_1 O_1 \text{ is } diagonal.$ Now consider v(x) = u(B0x) $\nabla v = O^{\dagger} B^{\dagger} \overline{y} u B O$ - diafond $C = BO = \begin{pmatrix} 1 & 2^{t_{i}} \\ 0 & i \end{pmatrix} \begin{pmatrix} 1 & 0 \\ 0 & 0 \end{pmatrix}$ In fact $= \begin{pmatrix} 1 & 2^{tv}O_1 \\ 0 & O_1 \end{pmatrix} \implies \nabla_{i_1}^* v = \nabla_{i_1}^* u$ This takes care of the issue Also U,= U,